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Topic:- General Knowledge and Logical Knowledge

1) Which neighboring country of India was referred to ‘Serendib” by the Arabs? / HRd & fpu

USRIl X BT 3REY A WIS HET UT?
1. Myanrnar/EI'iTI'IT

2. Sri Lanka / Scidhl

3. Nepal / B

4. Pakistan / QT &I

Correct Answer :-

e Sri Lanka / dtciaT

2) Which deity is worshipped at the Tirupati temple in Andhra Pradesh? / 31 wex H foveufa

wifeR ® fore Saar 3t gon $ wrdt 32
1. Ganesh/‘Tﬁ-‘ZT
2. Shiva/JI:Q'I?llr

3. Indra / 3_9('
4. Balaji / STcITSIt

Correct Answer :-

« Balaji / STCTSH

3) What do these have in common - Kapil, Dhara, Mandhar, Dunwadhar? | Bfud IR, ﬁW,
SATYR H T GHCT 32

1. All are tributaries / gHT qJeldh :ﬂ%!ﬁ%

2. All are estuaries / G4 SARGTE g
3. All are deltas / IH See %

4. All are waterfalls / G sﬂef %



Correct Answer :-

o All are waterfalls / IH gRef %

4) If MEAT is coded ZRNG, then how is TEAM coded? / f¢ MEAT &1 ZRNG ¥ ®ifsd foar
STdT 8, df TEAM & & hifed faar SRRm?

1. GNRZ
2. ZNRG
3. GNNZ

4. GRNZ

Correct Answer :-
e GRNZ

5) Arundhati Bhattacharya is the first woman Chairperson of which bank? / &G | 'J-IEWT&, o

3% 1wy Afgar sremel 32

1. Canara Bank / ®-R] S

2. Axis Bank / TfRTY o

3. State Bank of India / IT % W 3%'5”
4. ICICI Bank / 3TS SIS T3S d

Correct Answer :-

o State Bank of India / @_C' % 3‘|'qu 3'%'5”

6) The largest dam on river Narmada is / qﬂﬂT AW L g1 9y %:
1. Barna dam / SRAT 1Y

2. Tigra dam / IRIRICIL]

3. Bargi / S0

4. Sardar Sarovar / ¥RGR WRIaR

Correct Answer :-

e Sardar Sarovar [/ IRGRR WIR

7) The new National Health Policy was approved by the Union Cabinet in | HEg iAHsa A

T4 gt @A Hifa a1 #H argHte frar mar o |

1.2014



2. 2002
3. 2010

4.2017

Correct Answer :-

e 2017

8) Who is the Governor of the Reserve Bank of India? / WW%%W@?%’
1. Y.V. Reddy / dT8. . T8I

2. Montek Singh / Iﬁ%ﬁﬁs’

3. Raghuram Rajan / XYXTH oI

4. Urjit Patel / 3Iffd uea

Correct Answer :-

o Urjit Patel /3 Sfd ued

9) Who was the founder of the Bharatiya Janata Party? / YR =41 Tl & STy S 2
1.V D Savarkar / d1 1 HIaReR

2. Atal Bihari Vajpayee / 3cdl ot gt

3. Syama Prasad Mukherjee / UTHT UdTq 'ﬂ@\_rﬁ

4. Lal Krishna Advani / ¢IT¢T W] 3rsaruft

Correct Answer :-
o Syama Prasad Mukherjee / M Ydlq H’@\_Xﬁ

10) Who is the first Indian Woman wrestler to win an individual medal at the Olympic Games? /

rcifires @al & AfRETT Ugd Sitd- arelt Ugdl YR Aied ygaar &I 82
1. Sakshi Malik / GT&ft Afeidh

2. Kavita Dalal / ®{ddl gaTdl

3. Geeta Phogat / TIdl tITTIE

4. Babita Phogat / STdT BIFTIE

Correct Answer :-

o Sakshi Malik / g1&ft Afcin



11) In India, Petroleum was first struck in / HRd ﬁ, JauyH ﬂgﬁﬁnm UET@ fAreTer waT U
1. Digboi / f&Ta1S

2. Koyali / STl

3. Ankleshwar / 3fHAYR

4. Bombay High / S g'lg

Correct Answer :-

« Digboi / f&Tas

12) Find the odd one out: / Th faum Ad aﬂﬁnz:
2,4,12, 20, 30, 42, 56

1. 30

2. 20

3.56

4.4

Correct Answer :-

13) villages from which of the following districts have been included in the Climate Smart Village

Project? / fAT A & f forar & il ) Femgde W1 faeis Mieiae & afwiferd far war 82
1. sidhi / RIfg
2. Sagar / dTR

3. Satna / Id-Tl

4. Damoh /aﬂﬂ%’

Correct Answer :-

 Satna /{d-l

14) In which district are the Bhimbetka caves? / Wadesr '{ICI‘TI'EW et ﬁ%"
1. Gwalior/ e’

2. Ujjain / &M

3. Sanchi / gieht

4. Raisen / XTI



Correct Answer :-

e Raisen /W@:T

15) If DOOR is coded FQQT, then how is WINDOW coded? / fé DOOR P FQqT A Hifgd fobar wirdr
g, d winpow B & Hifsd far w2

1. ZLQGRZ
2. YKPFQY
3. YKPEPY

4. YIPEQY

Correct Answer :-
o YKPFQY

16) How many different six letter words can be formed using the letters of the word 'ORANGE', if
repetition is not allowed? / Af¢ GrRTGRI Bt SrTAT 11 &1 Al ‘ORANGE’ Xeq & H&RT BT YN
Fd g¢ fran fafira o3 sier vl &1 fmfor gy awar 82

1. 600
2.720
3. 360

4. 480

Correct Answer :-
e« 720

17) Two different numbers have the same two digits but in the reverse order. If the sum of the digits
is 5 and the difference between the numbers is 27; find the two numbers. / E(Pf e waman § gHE T:ﬂ
3P § IR ufaad wu & 1 9fe 3wl 7191 5 8 MR Sl w=msi & o9 &1 ofav 27 8; at gl
HEATSAT DI AT B |

1. 36,63

2.27,72

3.14,41

4. 15,51

Correct Answer :-



18) Find the next expression in the series: / Yl T 3RTA UG I JTd BIFoIT:

A,AAC, AAACCE, 2
1. AAAACCCEEG

2. AAAAACCEEG

3. AAACCCCEEEG

4. AAACCCCEEG

Correct Answer :-

e AAAACCCEEG

19) Complete the series choosing the missing number: / T JBT TAB YT B R

Fifoe:

512, ,16,8,8,
1.216

2. 64

3. 48

4. 160

Correct Answer :-

20) Complete the series choosing the missing number: / T JWT DR YT B T

HIfeTg:

3, 18, 38, 63, 93, 128,
1. 148

2. 138

3. 168

4. 140

Correct Answer :-
e 168

21) Complete the series choosing the missing number: / YU GBI AR QT C| T

Hifere:

0, 6, 24, 60, 120,



1.210
2. 200
3. 180

4. 160

Correct Answer :-

e 210

22) Select the option that is true about the Statements and Conclusions given: / 3d

fapeu &1 Tg9 Fifore wife R e YAl R fAseul & 9 & I8! @:

Statements: / ®Y-:
Some parrots are not birds / $ did Tef T8 8
All parrots are pigeons / It aia E GRS %

Conclusions: / fp:

I. Some pigeons are not birds / $© Hgax uell TEi 8
I1. All pigeons are parrots / Tt -G GIG] %

1. only conclusion II follows / ddd st 11 S{FERUT hdl g

2. only conclusion I follows / &ad fsam 1 &WW%

3. neither conclusion I nor conclusion II follows /- ?3[ fspy 1 3R T a fspy 11 STTARUT FYd %
4. both conclusion I and II follows / 5@ 1 3R 11 a:ﬁ WW%

Correct Answer :-

« only conclusion I follows / Hdd sy 1 S{JRUT HRl g

23) Select the option that is true about the Statements and Conclusions given: / 39

fapeu &1 999 Fifore sife R e YAl R fAseul & 9 & I8! 8:

Statements: / ®Y-:
All covers are envelops / I R ferems %
All cards are envelops / 9+ &1 frwTd &

Conclusions: / frspd:
I. Some cards are covers / 9 BIS FaT 8
II. No card is cover / Hﬁ'sc PIS Ha T-I'eﬁ%

1. only conclusion I follows / dad fsant 1 WUTWT%

2. only conclusion II follows / Had BN 11 S{FERUT hdl g

3. neither conclusion I nor conclusion II follows /7 1 FGY 1 3R 71 &t sl 11 SR A
4. both conclusion I and II follows / FT5HY 1 3fRR 11 GIHI SR Hd %



Correct Answer :-

« neither conclusion I nor conclusion II follows /= &1 f55Y 1 3R 71 g} fhY 11 SR IRA 8

24) Select the option that is true about the Statements and Conclusions given: / 3¥

fawea o1 997 Fiforg S 3y T F3A1 3R Freeuf & TR § 931 3

Statements: / $Y:
All students are intelligent / 93 B fSw= &
Ramu is not intelligent / I i 78 8

Conclusions: / farew:
I. Ramu is not a student / TIEE‘IETT-I'E?[%
II. Ramu has to go to school / Tl'li[ﬁ foremera ST Q?,TIT

1. only conclusion II follows / Had sy 11 S{TERUT Hdl %

2. only conclusion I follows / Fad sy 1 GF\NTUTWT%

3. neither conclusion I nor conclusion II follows /= &1 f75BY 1 3R 71 g1 f56Y 11 ST IRA G
4. both conclusion I and II follows / FSH S 1 3R 11 g ST IRA G

Correct Answer :-

« only conclusion I follows / dad fAHY I 3FIERUT Hl g

25) Select the option that is true about the Statements and Conclusions given: / 3d

fapeu &1 Tg Fifore wife A e YAl R fAseul & 9 & I8l @:

Statements: / ®Y:
All roses are lilies / It NGIE] forett %
Some roses are red / PO [dId dlel %

Conclusions: / fAssd:
I. Some lilies are red / $ forelt @rar €
II. Some red are lilies / $© dld fRoreft 8

1. only conclusion II follows / BT fsem 11 ST hdl g

2. only conclusion I follows / ddl freamtf 1 STTERUT Hdl g

3. neither conclusion I nor conclusion II follows / T 1 &R Y 1 3R 71 1 s 11 ST HA |
4. both conclusion I and II follows / FSHT 1 3R 1T G SR IRA G

Correct Answer :-

« both conclusion I and II follows / BN 1 3R 11 S SR PRAT

26) Who is the author of the book 'The Discovery of India’? / "HRd P W’ & dGP
P 3?



1. R K.Narayan / 3{R. &. AR

2. Mahatma Gandhi / H8THT el

3. Jawaharlal Nehru / STATERATA g%

4. Arundhati Roy / 3R=edt 1T

Correct Answer :-

« Jawaharlal Nehru / STaTedATd "8&

27) Name the religious movement started by Emperor Akbar in the late 16th century /

16¥ TraTedl & 3id § TS PR gRT Y fd MY Uil sricier &1 A9 gars|
1. Jizya / SIS

2. Jauhar / SEX

3. Din-i-lahi / §IF-T-gelg!

4. Kharaj / GRS

Correct Answer :-

« Din-i-Ilahi / &F-T-SaTe!

28) A member who is elected to the Rajya Sabha for a full term serves for a period of
./ IR BB & e IsaaquT § gH1 THaa U Je 3t 3afY & o Jara
garg |

1. Syears/Sa'Ef
2. 2years/2a'5f
3. 7years/7a'5f

4. 6 years / L

Correct Answer :-
e GOyears/6 CL

29) National Defence Academy is situated in . | TP &I repTGH
T # A gl

1. Uttarakhand / @RI S

2. Assam / 3[HqH

3. Tamil Nadu / alﬁa:llg

4. Maharashtra / HeIRTS¢



Correct Answer :-

e Maharashtra / HEIRTSC

30) The series given below contains a sequence of humbers. Identify the incorrect

combination: / 1 & 7 yRaen #, WM BT TP HH IURIC &1 Terd HaIoH UgHIC:
121, 143, 166, 187, 209

1.187

2.209

3. 166

4. 121

Correct Answer :-
e 166

31) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 13 € 713 e ¥, =Sl FT UH HH IUfRUG § | Tad YU UgdAT=e:
5,17, 37, 65, 100, 145

1. 100

2. 145

3.17

4. 65

Correct Answer :-
e 100

32) McMahon Line demarcates the boundary between / ﬁmﬁﬁm ,__ Wd
3t W &) Ry sar g1

1. India and Pakistan / HRd T4 HEESIGH

2. India and China / HRd Uafﬁ:f

3. India and Nepal / HRd od ElIIG]

4. India and Bangladesh / HIRd od EHW%QT

Correct Answer :-

¢ India and China / HRd Q_q’iﬁzf



33) Vivekananda founded the Ramakrishna Mission at | faa®rHe A e fiw=
B TITYAT Gl

1. Kanyakumari / HW@HT\&
2. Belur/aﬂg

3. Howrah / gldsT
4. Chicago / BT

Correct Answer :-

e Belur/ éT'R

34) Complete the series choosing the missing letter/s: / UGl &R/ &R B EGEZELCRI | T PifoTg
a__bbc__aab_ cca_ bbcc

1.b,a,c, b

2.a,¢,b,a

3.¢,a,b,a

4.a,b,b,a

Correct Answer :-

35) Who is known as the 'Father of White Revolution' and 'Milkman of India'? / ﬁF%
‘A hifd & S-S’ Td ‘FerA 3ITh Sfear & 918 I SE1 ST 82

1. M S Swaminathan / TH WWW
2. H M Dalaya / Td UH ¢l

3. Tribhuvandas Patel / FAYTTG™ ged
4. Verghese Kurien / GUiR ?ﬁ’q:l

Correct Answer :-

» Verghese Kurien / i @ﬁ'q:l

36) Sardar Sarovar Dam was envisaged by / IRGR TRIAR §iY Bt UREAT 5514 31 A
1. Indira Gandhi / ST el

2. Jawaharlal Nehru / oIdlgRcllc] :IER“
3. Maneka Gandhi / HTepT el

4. Medha Patkar / AT Ul



Correct Answer :-

« Jawaharlal Nehru / STTERATd A8%

37) Find the odd one out: / T% fquH JTd FIfoE:

1. Beautiful and Handsome / a¥{Xd 3R TR
2. Bother and Worry / g-I'I_sc @Tﬁ*ﬁﬂ

3. Cold and Chilly / 38T 3R 2da

4. Avoid and Seek / CTd-T 3R GIeHT

Correct Answer :-

¢ Avoid and Seek / CTcII GﬁT‘@ﬁ\_rFlT

38) In a certain language /ik fomb lyns means that great poet and vomb lomb fomb means god is
great. Then in that language the word /omb s used for: /[ Th WTT PIS HIHT ﬁ, lik lomb lyns &1
3 that great poet 3/ vomb lomb fomb &1 3y god is greatiﬂ?ﬂ %I EX3) PIS U & Jomb &

fere {5 e o1 gxawTa fobar T 82
1. great

2. that

3. poet

4. god

Correct Answer :-
e great

39) In a certain code language Friends are good is written gont hop feka and Good bye doctoris
written fip hop sek, then how is good coded? / Tdh W PIS W § Friends are good Ca gont
hop feka f=a1 SITaT 8 3R Good bye doctor®Y fip hop sek for@1 SrdT @ @Y good & F1 HIfSa
forar smaET?

L. fip
2. hop
3. sek

4. feka

Correct Answer :-



If HPMEFOis coded GOLDEN, then how is GOLDEN coded: / Gfé HPMEFO® GOLDEN A $Ifgd
fooaT wiTa1 8, Y GOLDEN Y H Hifsa forar s

1. FNKDCM
2. FNKCDM
3. FNKCDO

4. FNJCDM

Correct Answer :-
o FNKCDM

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? / A f&dr a1 &H #, el

DT i AT IRE?

DB PE




2)
In the sequence shown below, which figure comes next? / A &3 a1 &H #, el
il ia T IR

lee o0e =1 il o000

00 oce 00 20@
L L 1= o000 LA o000

o000
260
00e

S0
00
200

L 4 Qi
o000
00

o000
o000
$00

4.

Correct Answer :-

o000
o000
@00

3)
Reduce to single fraction: / Uehel f8eal dd HeBT:

P
Cogi S
[3 4]



5
) il
12
4)

If the following two squares shown below overlap, which one of the following options

is formed? / afg @ ef ad wfacafag g & o @Fa & & =i a1 vs AFeT a=adT 87

O
| |
O [ |
1.
O
|
2.
||
)
3.
n
O
4,

Correct Answer :-



5) Three years ago, the average age of a family of five members was 27 years. With the addition of a
child into the family, the present average age of the family is still 27 years. Find the present age of the

child. / 9 T qd foredt uftaR & 5 Iewil 3t oiea 3y 27 a9 <t ufaR o ve a=r sk ag oA
¥ 3T 3N g 3F ot 27 9 € 31 7= Y g Sy R B2

1. 24 years / 24 CL
2. 12 years / 1299
3. 16 years / 16 9

4. 20 years / 20 GL

Correct Answer :-
e 12years/ 12 CL

6) Three friends A, B, and C invested Rs. 20,000, Rs. 18,000, and Rs. 14,000, respectively in a
business. If at the end of the year they got a profit of Rs. 7,800, then the profit share of B would be: /
A, B 3R ¢ &4 o s5H=T: 20,000, 18,000 3R 14,000 TUA TNHR TH ATUR Y Hd o | AfG a8
& 3 | 35 78,000 UL PT ATH YT §IdT § I B BT fgwar ghm:

1. Rs. 4,200 / 4,200 SUY
2. None of the above / 3=|'fr I aﬁéﬂﬁ
3. Rs. 2,700 / 2,700 ST

4. Rs. 3,700 / 3,700 30T

Correct Answer :-
« Rs. 2,700 /2,700 3T

7) The present age of A and B are 20 and 50 respectively. After how many years, the age of A will be

half the age of B. / A 31X B 31 T/HT 3R HHT: 20 3R 50 9 | fae af a1g A Y 31 B HY
3mg @t ameht gt

1. 10
2.20
3.5

4. 30

Correct Answer :-



8) 40% of 250 + 25% of 280 = 50% of 240 +? / 250 DT 40% + 280 DT 25% =240 DI 50% + ?
1. 100

2. 80

3.50

4.75

Correct Answer :-

9) If the length of a rectangle is increased by 10 %, but the area remains unchanged, then its
corresponding breadth must have been decreased by / T 3Tdd 4| ?WI% 10% d& Wﬁ R 3IPI

e ufvafda &t grar, 38 & st et fraeh gerh ghfi

i,

10) Tap A fills a tank in 12 hours, while Tap B empties the same tank in 20 hours. If both the taps are
open together, the tank will fill in: / Tl A U ¢ B! 12 He H HRAT g, Sdfe 7 B I P B 20
e H YR UTaT 31 Ife S T U 1Y A 81 <l ¢F WA | A HY g

1. 36 hours 24 min / 36 T¢ 24 .
2. 24 hours 45 min / 24 H¢ 45 T,
3. 20 hours / 20 G¢

4. 30 hours / 30 °¢



Correct Answer :-

« 30 hours / 30 ©¢

11) Chandan's age is one-third of his eldest sister's age today, but he will be half her age after five
years from today. What is the age of Chandan's sister? / 3ol d~g-1 4| S 3 Tad a@ﬁ Crakdl
TS AgTS 8,U% SIS A 5 T 91¢ 3B MY U 98 1 3mg B 1eh g1t | a=o=1 Y 951 &}
g frait 82

1. 15 years / 1539
2. 5years/5 CL
3. 20 years / 159

4. 10 years / 10 99

Correct Answer :-
e 15years/ 15 CL

12) A pump fills 1,200 litres of water in a tank, after which it remains 60 % empty. How much more
water should go in to fill the tank to the brim? / T YH], U TP A 1200 <ftex Ul wRan % e
1S T8 60% Tt 3§ o1dT 8 1 39 TR WA F o fa=m urit ok sazaes ghm?

1. 1,800 litre / 1,800 dte”
2. 1,200 litre / 1,200 Tl
3. 3,000 litre / 3,000 dle]

4. 2,000 litre / 2,000 e

Correct Answer :-

+ 1,800 litre / 1,800 dle”

13) A and B can do a piece of work in 6 days; B and C can do the same work in 8 days; A and C can
do the same work in 10 days. If A, B and C work together, how many days will it take them to

complete the entirework?/AGﬁ?Bmmaﬁ6ﬁqﬁm%,B3ﬁTcwmaﬁ8ﬁ?ﬁ
FIUR S MR A MR CITAFAB FAH 10 AT T 13f A, B 3R c Ty & o 3 dt v
RT e ¥ fora= Iua &

18 18
T dayst 2=—iH
47 v 47

5 5
5 _days / 5—Tea
47 2 47



32 32
3_days/ 3— Eu‘-l
47 ! 47
3.

4. None of the above / dqi\iok‘l =k GI';I‘.'z'r BEl

Correct Answer :-

5 5
5 _days / 5—Tea
47 ” 47

14) A and B together can complete a work in 10 days. B working alone can complete the work in 15
days. How long will it take for A alone to complete the work? / A 3R B Udh 1Y fHdt s B 10
RA AR A I B ASAT ST BH B 15 RA T RI HR UTAT B 1 A 3P AT IY HTH I foraq feA
H P U

1. 25 days / 25 faA
2. 15 days / 15 f&A
3. 20 days /20 f&A

4. 30 days / 30 f&

Correct Answer :-
« 30days /30T

15) The surface areas of two spheres are in the ratio of 9 : 16. What is the ratio of their volumes? / a

Tl & Tag ATBa! BT 3UTd 9:16 B | ISP TAG] BT SFUTd BT gRI?
1.3:4
2.9:16
3.16: 9

4.27:64

Correct Answer :-
o 27:64

16) Raju sold a chair at a gain of 5%. If he had sold it for Rs. 9 less, he would have lost 7%. What is

cost price of the chair? / T 5% & ATH W TH FiT aodT 3| TS 98 32 9 UL S0 H d9ar ot 3§
7% 1 I gieit | Hf T ArTa Yo fam 32

1.Rs. 75 /75 30
2. Rs. 55 /55 30

3. Rs. 45 / 45 Y



4. Rs. 85 /85309

Correct Answer :-

« Rs.75/75%0°

17) The average of 10 numbers is 6. If each number is multiplied by 13, then the average new set of

numbers is: / 10 TSN BT 3T 6 B 1 S TAP TBAT BV 13 A 0N H {1 91T, 41 i} & U
YT T 3NEd gh:

1. 58
2.78
3.55

4. 69

Correct Answer :-

18) The average of all odd numbers up to 100 is: / 100 <Ih 31 gt faww wwerman &1 sitwd fraan

1. 40
2.50
3.70

4. 60

Correct Answer :-
e 50

19) The average price of gold during last year was Rs. 1,120 per gram. The average in the first five
months was Rs. 1,105. In the next three months, the average was Rs. 1,125. What was the average

price in the remaining months? /'\‘ﬁﬁﬂ)‘[&ﬁ'\‘lﬂﬁﬂwaﬁ 1,120 wv?r/srm%l HWSWW
ST 1,105 TUA 81 AT i A& 7 3R 1,125 FUA 3 | AW AL 1 3RIa Goa &1 g2

1. Rs. 1,135/ 1,135 308
2. Rs. 1,140/ 1,140 ST
3.Rs. 1,137.50 / 1,137.50 3T

4.Rs. 1,130/ 1,130 04

Correct Answer :-

e Rs.1,135/1,135 300



20) The cost of 30 books is Rs. 150. If more than 50 books are purchased, then a discount of 10% is
given. How much will 70 books cost? / 30 J¥eh T Jed 150 U § 1 TS 50 | 31 s TS
STt &, @ 391 R 10% 1 e et 31 70 G| &1 g fpa-m ghm?

1. Rs. 300/ 300 30T
2.Rs.315/315 30
3. Rs. 350 /350 U

4. Rs. 335 /335300

Correct Answer :-
e Rs.315/315%09

21) Six years ago, Natasha's age was triple the age of Manasa. Six years later, Natasha's age will be
5/3 of the age of Manasa. What is the present age of Manasa? / 6 a’ﬁf@m Ed| ST HAAT Dt S
Dt 1 AT 21 6 T T, AR BT AT AET DT AT B 5/3 FRIT | TAAT B Forw= g fpa=it
82

1. 12
2. 11
3. 13

4. 14

Correct Answer :-

22) An article was bought for Rs. 250 and sold at a loss of 5 %. What is its selling price? / T d¥q

250 FYA T WIHAGHR 5% P g1 WR A< w1t 3 | Faspar-gea foramr 82

1. None of the above / SURIad H I qﬁéqﬁ

2. Rs. 237.50 / 237.50 3UY
3. Rs. 239.50 / 239.50 3UY

4. Rs. 238.50 / 238.50 3UY

Correct Answer :-

« Rs.237.50/237.50 34U

23) A train, 240 m in length and running at a speed of 72 kmph crosses a tunnel in one minute. What

is the length of the tunnel? / 240 HY. T T ¢ oIt ifd 72 %ﬂm%wwﬁwﬁ%ﬁ
IR &Yl 3 | G & aaTg fast 32

1. 780 m / 780 HT.



2. 820 m/ 820 HI.
3. 960 m /960 HI.

4. 1000 m / 1000 HT.

Correct Answer :-

* 960 m/ 960 HI.

24) 1f 20% of X =30% 0fY,thenX:Y=?/1Tﬁ'X37|'20%=Y3‘7[30%,?ﬁX:Y=?
1.3:2

2.2:3

3.1:2

4,2:1

Correct Answer :-

25) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / % f33 T IR vl & & <R 33 T ud & 1o 9 S 91 v 81 82

Abby Abbot
#4 — 1st floor, 72
Richefond Circle — Ridgeside offices,

Umhlanga Ridge 4319, South Africa

(i) Abby Abbot
#4 — 1st floor, 72
Richefond Circle — Ridgeside offices,

Umhlanga Ridge 4319, South Africa

(ii) Abby Abbot
#4 — 1st floor, 72
Richefond Circle — Ridgeside offices,

Umhlanga Ridge 4319, South Africa



(iii) Abby Abbot
#4 — 1st floor, 72
Richefond Circle — Ridgeside offices,

Umhlanga Ridge 4319, South Africa

(iv) Abby Abbot

#4 — 1st floor, 72

Richefond Circle — Ridgeside offices,
Umhlanga Ribge 4319, South Africa
1. 1ii

2.1v

3.1

4.1

Correct Answer :-

° iV

26) Ram scored following marks in the Exam out of 100 for each subject:
English: 85

Hindi: 75
Mathematics: 92
Science: 88

Social Sciences: 85

Find the average marks scored by Ram in the 5 subjects?

/ I\ B gden ¥ 100 # & fafi fawdl § 9 siw wa g
3Tt : 85

gt :75

o : 92

fagm : 88

|rHTRo® fag= : 85

ural fawal § I gRT e T Y St ofw g Bt

1.83



2.82
3. 87

4.85.2

Correct Answer :-
e 85.2
27) CANCELLED

A train passes a truck coming from the opposite direction in 9 sec. If the speed of the truck and the
train is 90 kmph, then what is the length of the train? / faudta fezm & e <@ Tdh ¢h G| TP 27'[ 9.
o UR el 21 afe T & 7fer 90 fpeii/e 8, Y 7 &) s fpait 82

1. 330 m/ 330 H.
2. 450 m/ 450 HI.
3.430 m/ 430 .

4. 300 m / 300 HI.

Correct Answer :-

e 450 m /450 ¥,

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /T'naiﬂ"ﬂg %[@?ﬂﬁ', a&lﬁaﬁvﬂ'@raﬁmwmﬁrﬁaél Wmm
i.news8799wens

ii.news8799wens

iii.mews8799wens

iv.news8799wens

1. 1v

2. il

3.1i

4.1

Correct Answer :-

29) Find the average. /3 frpTfer |

10, 20, 30, 35, 40 & 45



1.24
2.26
3.32

4. 30

Correct Answer :-

e 30

30) The square of 53 is: / 53 DI T A I

1. 2,809

2. None of the above / s:l'af I ?ﬁé:l?)[
3. 2,800

4. 2,806

Correct Answer :-

Topic:- Science and Simple Arithmetic

Vs Hfisequalto: 1 (1P = (-2f g WA &

v
3 (-4)

Correct Answer :-

2 - : -
) Snlvefurx:%=—%fx F o aOta &+ Ez_%

r

1.3



2
*s

1.
3
4_
2. 5
-3_

3.
5_

4,

Correct Answer :-

4)
: : 2x?— 3x-5 . 2x%— 3x-5
The quotient obtained when % is: / 99 % forar Sme, ar
x x

OTcd SEThd o
1.2x+1
2.2x-5
3.x-10

4.x-5

Correct Answer :-

e 2x-5

5) In a circle of radius 17 cm, if a chord is at a distance of 8 cm from the centre of the circle,

then the length of the chord i§: / 17@%@“@@?@@@%@?%%@8



I o gt W B, 79 Siar o daTsS 8-
1.24 cm /24 9
2.28 cm /28 9T
3.30 cm /30 9Ht
4.20 cm / 20 9Ht

Correct Answer :-

« 30 cm /30 9Ht

6) Find the compound interest of Rs. 5000 for 2 years, if the rate of interest is 10% per

annum. / 2 T4 & 1T 5000 U FT Thgfs AT FTd B, AT =Tl & ufa af 10% 21
1. Rs.1025 / 1025 ¥UT

2. Rs. 900 / 900 ¥TY

3. Rs. 1050 / 1050 Y

4. Rs. 995 / 995 ¥UY

Correct Answer :-

« Rs. 1050/ 1050 »UU

7) The maximum daily temperature (in °C) of a city on 7 consecutive days is 33.5, 29.3, 25.7,
24.2, 38.1, 34.3, and 31.9. The range of the given data is: / T R[GX & TAR '\‘Iﬁﬁﬁaﬂ
3iftrpan efe ararE (3 AfRraa #) 33.5, 29.3, 25.7, 24.2, 38.1, 34.3 AUT 31.9 21 e
T 221 T IR §:

1. 10.1°C
2.13.9°C
3.7.8°C

4. 12.4°C

Correct Answer :-

« 13.9°C

8) Intestine absorbs the digested food materials. What type of epithelial cells are responsible for

that? / 3T T2 U WTel USTYT ! Sa=Nfa wedl 8| f5a voR &) Susar oIfRrene, 39 & forw
IcRerd g1t 82

1. Glandular epithelium / PIREEET|



2. Cuboidal epithelium / YqIh IR SUD I
3. Columnar epithelium / TAHTHR FUB T

4. Stratified squamous epithelium / ¥IRd edh! STD A

Correct Answer :-

« Columnar epithelium / THTHR IUDBA

9) The magnet used to lift and transport heavy loads like big metals, steel girders and scrap iron
objects for loading and unloading purposes is known as: / YR YR 99 fF urd ‘il'lﬂ&ﬁ, a &t
SRR TYT ThY T B aeg3i Pt AT T ST Ie=al & fore s/ aur ulae ag g
g 91eT gia® (= Hgaran 8

1. Electromagnet / é@ﬂw

2. Diamagnet / Ufadiad

3. Permanent magnet / Rﬂg Y h
4. Paramagnet / ST D

Correct Answer :-

 Electromagnet / W

10) Give the other term for red blood cells. / ©ITel Y& BHIOTHTSN &b fore R Xeg ddIgT |
1. Ery‘chrocytes/Qﬁiﬁﬂ'l%“cr

2. Leucocytes / W

3. Chondrocytes / aﬁ%jws‘c’

4. Osteocytes / &r”rf@ﬂw

Correct Answer :-

e Erythrocytes/ Qﬁﬂ-lﬂ <C

11) The function that is not influenced by estrogen is: / UBTd Sifh w\_ﬂq I yuifad qﬁfﬁ?ﬂ %:
1. Release of eggs from the ovaries / SR ¥ 3f &t ol ﬁﬂ?ﬁf =Bl

2. Formation of sperms / WGﬁ &1 fAmmor

3. Development of the breasts / ¥l &1 fdbI

4. Menstrual cycle / a1 dIsh

Correct Answer :-

e Formation of sperms / W\’rﬁ &1 fFmfor



12) The first nuclear reactor was set up in India at: / HIRd H ygar Arfy e ﬁ'w uﬁwﬁa
foam T o

1. Rana Pratap Sagar / XTUIT UdY IR
2. Trombay/g\lﬁa

3. Tarapur / dIRTYX
4. Kalpakkam / hclUdhH

Correct Answer :-
e Trombay / g\@

13) During waste water treatment, large objects like plastic bottles, plastics, and cans are removed

by: / MUY T SUAR & R, WP P giad, Wifeed, 9uT fEsat 3nfe ot ot axgaii &
TP GIRT geTdl SITdT &:

1. Bar screen / IR ®hIH
2. Filtration / fA¥dA

3. Aeration / dId-

4. Chlorination / FAIRI

Correct Answer :-
« Bar screen / SR hI

14) A group of stars that appear to form a pattern in the sky is called ./ dRI d1d8 Tﬂﬁ'ﬁﬁ'
STHT N TP ATpTa gTaT gorT e 8, FHgardr gl

1. constellation / ARTHS A
2. comet / W

3. asteroid / &Ug
4. meteor / Seb[

Correct Answer :-

« constellation / dRTHS

15) On placing an inverted tumbler over a burning candle, the candle flame extinguishes after a

sometime. This is because of: /Wsﬁ*ﬁmaﬁm@ﬁnﬁwwﬁmwwm
Hivash Bt o g1 STl B | SHPT BRI T @

1. Ignition temperature being low / Usdcld-dTd I HH gl

2. Non-availability of wax in the candle / HIH&T H HIH DI ST



3. Non-availability of carbon dioxide / CARE 31331\IJGR-II$5 I STJUAS I

4. Non-availability of oxygen / SIS ht STJUAS T

Correct Answer :-

» Non-availability of oxygen / STRITSH i STJUAS T

16) Sonam added a tablespoon of salt in a glass of water and stirred it.The salt disappeared. Identify
the type of change in it. / - 3 T R Ul § Te 987 99 THS STAHT 59 [Hadr| 1946
S 8 71 $9H g1 aTet URad & YR & Ugar S|

1. Biological change / Sfdw aftada

2. No change / ®1s TRad T8l 8ld1 8
3. Physical change / ifae afvad=

4. Chemical change / A gikad—

Correct Answer :-

 Physical change / ifae afvad=

17) Name the tree which is planted all along sewage ponds. / qIeaHd a1d & fFIR fFa UeR &
& T 14 2

1. Teak / G
2. Silver oak / FIcaR 3l
3. Pongamia / BILIER

4. Eucalyptus / m

Correct Answer :-

« Eucalyptus / W

18) Name the vaccine used to prevent typhoid. / CISPIFS Ed| WQITF[ & ﬁnz UYgdd Eﬁﬁ arett
AR @1 1 AW Fa9sT|

1. BCG / SISt

2. Oral drops / A% Ezll'q

3. DPT vaccination / S1UIc! T ST
4. TAB vaccine / éTQEﬁ CAKACA

Correct Answer :-

e TAB vaccine / é|Q§i| ARG



19) The decomposers in an ecosystem: / b yifRufae! a3 § srges:

1. Convert inorganic materials to organic compounds / BIED YTl Bl BT TGl H wuidnd
A

2. Convert organic material to inorganic forms / FIeD YTl B SfpTe-d Uerf § Tuidid HRd %I

3. Convert organic material to simpler forms / PTaf Terdf B TR WUl # =0iaiRd Hd g

4. Do not breakdown organic compounds / Eb—l_q;% W DI YoH '_'|_6ﬁ Hd %I

Correct Answer :-

« Convert organic material to simpler forms ) FIEE UTdf ) IR Wl H Yiafkd Hd ]

20) The area of an isosceles right triangle of equal sides of 24 cm is: / 24 I JATT Yeraii
et T ufgarg U AYs &1 89w @

1. 254 cm? / 254 A2
2. 246 cm? / 246 THI2
3.288 cm? / 288 THI2
4.292 cm? / 292 T2

Correct Answer :-

. 288 cm? /288 THI2

21) Which of the following is the factor of x2 - 3x-18? / fFgfif@ad # A AT x2 - 3x-18 FT
TP UGS 8?2

1. (x+9)
2. (x-6)
3. (x-2)
4. (x-3)
Correct Answer :-

e (x-6)

22) The CSA of a cone is 165 cm2. If its slant height is 10 cm, then its diameter is: / T&

i P I YT & a 165 A2 g1 afe 3wt forat Samg 10 A+t B, 99 391 U9 3:
1.9.6 cm /9.6 THT

2.10.5 cm/ 10.5 98



3.8.5cm /8.5 9H
4.12.4 cm/ 12.4 98

Correct Answer :-

. 10.5cm/10.5 98

23) The volume of a cubical box is 512 cm3. The length of a side of a box is: / T& g9
TR BT ATgad 512 AHB g1 T & TS PR &) 7918 @

1.7 cm /7 9
2.8 cm /8 JHT
3.9 cm /9 Ut
4.6.cm/ 69

Correct Answer :-

. 8cm/8@1ﬂ

24) The lengths of two adjacent sides of a parallelogram are 5 cm and 8 cm. Its
perimeter is: / TP JUMIGR IgHS & S 3T Yoraff $ aars 5 At qur 8 T+t 31 sqat ufkfy
Cf

1.13 cm/ 13 94
2. 18 cm/ 18 IHY
3.26 cm /26 98

4.16 cm / 16 JHT

Correct Answer :-

.« 26 cm /26 99

25) A shop keeper buys an article for Rs. 440 and his overhead expenses are Rs. 60. If he
sells the article for Rs. 550, then his profit % is : / TP gHMER TP a3 DI 440 TUd |
Tedl 8, 94T 39 W 60 T HUI Wl Hdl 31l 98 59 9%g I 550 U H 3«7 §, df SHPT
Y % g:

1. 8%
2. 9%
3. 6%

4. 10%



Correct Answer :-

« 10%

26) AB | | CD and PQ is the transversal meeting AB and CD at L and M, respectively. If
ZALP = 110°, then LMD = ./ AB | | CD & 94T AB ¥d CD R PQ U& fade ¥@&1 H: L
ud M fig w81 9fg LALP = 110° 8, 99 LMD =

1. 110°
2. 100°
3.70°

4. 60°

Correct Answer :-
e« 70°

27) ABCD is a parallelogram. If A = 135°, then 2B + 2D = . / ABCD T% JHiR agy+ 2|
gfe LA = 135° %, 99 2B + «D =

1. 90°
2. 80°
3.85°

4.75°

Correct Answer :-

« 90°

28) Which one of the following is not a protected area? / fadd s Th LEGRAE] Ta%’
1. National park / T@q 3

2. Sanctuary / IHIRUY

3. Zoo/ ]%l'%'qTER

4. Biosphere reserves / ECEENARED

Correct Answer :-

. Zoo/ﬁl'%'cﬂm

29) Arthropod means: /3MUTOIST 37 3f &
1. Long tentacles /Flé e



2. Jointed legs / Tf¥d &R
3. Jointed body /4 TRR
4. Segmented body /TTSTIRR

Correct Answer :-

« Jointed legs / Tfed TR

30) The hormone that controls the development of secondary sexual characteristics in males is:

/ T8 I &t g Ul § ivr Aff1e der & e & fHaifya swar g:
1. Testosterone / CRCICRIT
2. Progesterone / ISR

3. Adrenalin / Q%:”?’l:l
4. Thyroxin / TR

Correct Answer :-

o Testosterone / éER%Q ]



